3AKOHBI
APUOPMETHUYECKHUX JTEMCTBUU
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YCI'HbIN CHET

12-15=H -7-(3)=X 15:3=E
5-3=F 12-(-2=M 3x4=H
41+5=0 -12:(-4)=U 2x3=Y
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CBOHCTBA YMHO)KEHUA

[IEPEMECTUTEJIBHOE
CBOUCTBO YMHO)XEHUS

AxB=B xA

*COUYETATEJIBHOE CBOUCTBO
YMHOYXXEHUA

Ax(BxC)=(AxB)xC
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CBOUCTBA YMHOXXEHUSI

axo=o0
axb=o

1)a=o0 2)b=o0
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2,3:(58—-x)=0

58 - Xx =
& =58 -
Q -

(ﬁ%enx=
58.

(11,7 +3x) - (—6) =0

11,7 + 3x=0

3x=0-11,7

3x=-11,7

x=-11,7:3
X= -

OTBér: x=-
3,9.



(8x+4)-(5x-10) =
0.

8x +4 WIN 5x - 10=0

%k = 5x =0 + 10
-4

X=-4: 5x =10
8X: x=10:5
-0,5 X=2

OtBeT: X=-0,5; X =
2.
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PACIIPEJEJTUTEJABHOE CBOHMCTBO YMHOXXEHU
OTHOCHUTEJIPHO JEVUCTBUU
CJIOXKEHUS U BBIYUTAHU S

(a+b) xc=ac + bc

(a-b) xc=ac-bc
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BbIYUC/IUTDb YIOBHBIM CITOCObBOM

1) -3,8-4,7+(-1,2) - 4,7=

2) -2,5- (-8,9)+1,5 - (-8,9)=



CBOUCTBA CJIO)KEHUA

[IEPEMECTUTEJIBHOE
CBOUCTBO CJIOXXEHUA

A+B=B+A

*COUYETATEJIBHOE CBOUCTBO
CJIOXKEHUA

A+(B+O)=A+B)+C



a) 6,3 +(-2,6) +3,7= 7,4

6) (-9,2) +(—5,4) + 3,2=-11,4
B)8,2+2,9+(—1,2)=9,9
r)1,7+(-2,6)+(-1,7)+2,6=0
n)(-4,9)+5,5+4,9+(-5,5)= 0

e) 1,8 +(-6,2) +(-4,1) + (-1,8) +6,2=-4,1



CAMOCTOATEJIbHASA PABOTA

JTOMAILITHEE 3ATAHUE:
PELIUTb 3ATJAHUE HA KAPTOUYKAX,
[MTPOYUT. UHTEPECHBIE CBEJAEHUS HA CTP. 213



